Ratio to ATLAS

1/0 do/dg’st,
|—\
3

13000 GeV pp Z (Drell-Yan)
[— I I T T TTTI | I T T TTTI | I I T T TTTI | I T T TTI1 9
B * 15
L @ (I) (ATLAS Z production) 3
= ! 5=
— =)
- e
L — Nl
10 B p——— T _ES!
— - |
— 1
- o
2
107 & ElR
— _]|m
— <
- — ™M
- 15
1072 = B ATLAS — !
— —&— Pythia 8.308 default 3 i
~ —— Pythia 8.308 tune-A14-CTEQL1 45
10% L - Pythia 8.308 tune-A14-MSTW2008LO s
SE— Pythia 8.308 tune-A14-NNPDF2.3LO = c
-~ Pythia 8.308 tune-CUETP8S1 38
| —
10 EE
=R B T B A TTT] BT b
2 & =2
i e —— N 1
A--moo A-- AN G -
0.5 —0.5
1 1 1 1 1 1 1 I| 1 1 1 1 1 11 I| 1 1 1 1 1 1 1 I| 1 1 1 1 11 11
10°° 1072 107" 1 10



	Contents
	Page 1


